KFirst Summative Kvaluation-2023

Class-VIII Full Marks-15
Subject- English Time-30 mins
Name : Roll No. Sec.

1. Read the textcarefully and answer the following questions :

He walked for miles in the sun and dust. He went back by the same dirt track
he had taken to come there. The sun was still fiercely hot but when he reached
the mud hut, he felt a nip in the air and the earth was damp underfoot.

As he neared his village, he saw the roads were wet. Trees that had been
standing draped 1n layers of dust when he had left in the morming now looked
freshly bathed. He felt a wave of happiness. He hurried home. He wanted to see
how fresh and clean the jamun tree in his courtyard looked.

A. Tick () the correct alternative : 1x2=2
)| As hereached the hut he felt— a) hot b) chill ¢) dry.

1)  Afterrain the trees looked— a) clean b) dusty c¢) yellow.

|
w

B) Write ‘T’ for true and ‘F’ for false statements : 1x3

) He had walked a little in the sun and dust.

1)  He was eager to see the Jamun tree.

m) The village roads were wet.

Grammar

2.A. Addsuitable prefix and suffix to the given words in brackets and fill in the blanks to

complete the sentences meaningfully : 1x3=3
)| The teacher was (appointed) by their lack of interest.
1)  Vidyasagar is famous for his (kind) too.
m) We cannot (treat) our pets.

B. Make sentences with following words : 1x2=2
) Yearn-

1) Peculiar-




VIII-Eng(2)

Writing
3. Writealetter to your friend describing your performance in a cultural programme.
Or
‘Write a short paragraph about your feeling in a rainy day.
Ans:
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Reading Comprehension (Seen)

1. Read the passage carefully and answer the questions that follow :

The bus was soon empty, and I was the last passenger left behind. “I've got myrules”, the
conductor said to me. He had won his victory, but felt that he would like to justify himself to
somebody.

“Rules,” I'said, “are necessary things. Some are hard and fast rules, like the rule of the road,
which cannot be broken without danger to life and limb. But some are onlyrules for your guidance,
like that rule about the dogs. You can use your common sense here. They are meant to be observed
in the spirit, not in the letter, for the comfort of the passengers. You have kept the rule, but broken
its spirit. You should mind your rules with a little good will and good temper.”

A.  Tick (/) the correct alternative from the given alternatives : 1x2=2
1 The rules for guidance must be used by

a) words b) common sense ¢) police d) conductor

1) The conductor wanted his decision to

a) justify b) impose ¢) rule d) win

B. Complete the following sentences : 1x2=2

1) Therule about the dog was the rule

11) The narrator wanted the conductor to show

C. Answer the following questions : 2x1=2
1) How should the rules for guidance be observed?

Ans:

2.  Read the extract of the poem carefully and answer the questions :
Ilove to see the shaking twig
Dance till the shut of eve
The sparrow on the cottage rig,
‘Whose chirp would make believe
That spring was justnow flirting by
In summer’s lap with flowers to lie.

I love to see the cottage smoke
Curl upwards through the naked trees,
The pigeons nestled around the cote
On dull November days like these;
The cock upon the dung-hill crowing,
The mill sails on the heath a-going.

A.  Tick (/) the correct alternative from the given alternatives : 1x2=2

1)  Twigs dance till the shut of —a) evening b) morning ) noon
1% 1 1 | e




3.

IX-Eng(2)

1) The trees are naked for want of—a) leaves b) dresses c) flowers
d) birds
Answer the following questions : 2x1=2
)| What does the chirping of sparrow make the poet believe?
Ans:

Reading Comprehension (Unseen)
Read the following passage and answer the questions given below :

Howrah : 3 persons, including a child, died in two separate accidents on Monday. The first
accident took place on Pakuria bridge at Salap in Domjur in the wee hours of Monday when a mini-
truck hit a lorry. Three unidentified persons were travelling in the truck at the time of the accident.
Two of them died while the injured was admitted to Medical College, Kolkata in a critical condition.
In another accident at Deulti near Bagnan, Afrin Khatun (9) died when an auto hita van. Four
others were injured in this accident.

A

Adopted from The Times of India

Tick (/) the correct alternative from the given alternatives : 1x4=4
1)  The firstaccident occurs at —

a) Early moming b) Early evening c¢)Late night d) Office hour

1) Total number of deathis—a)2 b)3 c)4 d)7
m) Among dead persons two were the passengers ofa/an—

a) lorry b) truck ¢) auto d) van
v) AgeofAfrinis—a)7 b)9 c) 11 d) 8

Write True (T) or False (F) against the following statements. Give your supporting
expression : 2x2=4

1)  Accident occurs when a track hits a lorry.
S.S.

1)  The injured person of the truck was sent home.

S.S.
Answer the question : 2% 1=2
What 1s the result of the second accident?
Ans

Grammar and Vocabulary
Fill in the blanks with appropriate articles and prepositions : 1x3=3
Malariaiscaused_______germ thatgrows__________the patient’s blood. A mosquito

sucks and injects theblood_____another body.



IX-Eng(3)

Do as directed : 1 x3=3
i)  Underline the clauses in the following sentence and state what kind of clauses
they are :

The house where Nazrul was bormn is in Churulia.
Ans :

1)  Hisbehaviour shocked us. ( Change the voice)

Ans

m) My brothersaid to me, “What can we do now?” ( Change into indirect speech)

Ans

Given below are the meanings of two words which you will find in the passage in Question No.
3. Find the words and write them in appropriate boxes : 2x2=4

1) not so easy

i1) taken in together

WRITING

Write a paragraph within 100 words on how you may plan to take care of street dogs. Use the
followinghints : 10

Hints : Cruel action towards street dogs- necessity of looking after them- way of taking care of
the dogs- conclusion

OR

Write aletter to the Head of the institution asking him/her for providing more reference books
in the school library:. 10
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1.

Reading Comprehension (Seen)

Read the passage carefully and answer the questions that follow :

Swami went to school feeling thathe was the worst boy on earth. His conscience bothered
him. He wasn’t at all sure if his description of Samuel had been accurate. He felt he had mixed up the

real and the imagined.

Swami stopped on the roadside to make up his mind about Samuel. Samuel was not such a
bad man after all. Personally he was much more friendly than the other teachers. Swami also felt

Samuel had a special regard for him.

Swami’s head was dizzy with confusion. He could not decide if Samuel really deserved the
allegations made against him in the letter. The more he thought of Samuel, the more Swami grieved
for him. To recall Samuel’s dark face, his thin moustache, unshaven cheek and yellow coat filled

Swaminathan with sorrow.
A.  Tick (/) the correct alternative from the given alternatives : I1x2=2
)  Samuel’s face became -a) dark b) fair c) grave d) anxious
1) Swami felt himself very— a) good b) bad ¢) handsome
d) cruel
B.  Write ‘T’ for true and ‘F’ for false statements : 1%2=2
) Swami was sure about his teacher’s rude behaviour.

1) Swami felt sorry for Samuel.

Answer the following question : 2Xi =2

) Why did Swami feel himself guilty?
Ans:

Read the extract of the poem carefully and answer the questions:
The mountam and the squirrel
Had a quarrel:
And the former called the latter ‘Little Prig.’
Bun replied,
“You are doubtless very big;
But all sorts of things and weather
Must be taken in together,
To make up a year
And a sphere.
And I'think it no disgrace
To occupy my place.

Tick (/) the correct answer from the given alternatives: 1x2=2

1) Bunrefersto the-

[ | — ] [ | I |



X-Eng(2)

1) A prig puts on an appearance of -
a) being morally correct b) being physically correct c) wearing
incorrect dress. d) wearing proper dress
B. Answer the following question: 2x1=2

)  Whatis not the matter of disgrace and to whom ?

Ans:

Reading Comprehension (Unseen)
3. Read the following passage and answer the questions given below :

Kolkata: Over half ofthe FIRs lodged against fake news on social media in Indian cities in
2021 were in Kolkata. The city saw cops lodge 28 FIRs in 2021 regarding fake news being spread
on social media.

NCRB says this is the highest number of such cases registered by any of 19 cities with a
population of more than 20 lakh. 47 such cases were recorded nationwide. The remaining cases
were lodged in Hyderabad and Mumbai, which recorded eight cases each. Pune recorded two
cases and Ahmedabad just one.

Incidentally, 2021 was the year when Kolkata and rest of Bengal had witnessed the assembly
elections. Overall the city reported 220 cases of cybercrimes in Covid-hit 2021, arise from 172
cases reported in 2020 and a massive increase from 160 cases recorded in the pre-pandemic year
2019. “ The hike of 28% can be attributed to the overall rise in cyber frauds during the pandemic™.
said cyber expert Hrithik Lall.

At a time when Kolkata witnessed its overall crimes decreasing with 14591 cases in 2021
from 18277 in 2020, in reversing the trend, said city cops.

The rise in cybercrimes in Kolkata comes at a time when it has dropped across the nation.
The total number of cases is mini scule compared to I'T hubs like Bengaluru( 6423) and Hyderabad
(3303) or the financial capital, Mumbai( 2883).

Adopted from the Times of India.

A, Tick (/" )the correct alternative : 1x4=4
)  Fakenewswas published in-

a) local media b) print media ¢) social media

d) national media

)  Thenumber of FIRs against fake news rises to-
a) 46 b) 47 c) 48 d) 28
m) Assemblyelection of Bengal was held in-

a) 2020 b) 2021 c) 2022 d) 2019

v)  The highest number of cyber crime occurs in-

a) Kolkata b) Bengaluru ¢) Mumbai d) Hyderabad




4.A.

X-Eng(3)

Write True (T) and False (F) against the following statements. Give the supporting
expressions / words : 2%x2=4

)| Bengaluru is an IT hub.
S.S.

1)  Ahmedabad witnesses the lowest number of FIR against fake news.
S.S.

Answer the following question : 2x1=2
)| In which type of cases Kolkata ranks the first?
A :

Grammar and Vocabulary
Fill in the blanks with appropriate articles and prepositions : 1x3=3
Somedays___ thefuneral _____ special train took Gandhiji’s ashes
Allahabad.
Do as directed : 1%3-3
)  Wehad akite that was big. ( Turn into simple sentence)
Asig -

1)  Swamisaid, “ What has he done, father?”” (Turn into indirect speech)
Ans:

m)  His conscience bothered him. ( Change the voice)
Ans:

Given below are the meanings of two words which you will find in the passage in
Question No. 3. Find the words and write them in appropriate boxes : 2x2=4

)  Nottrue

1)  Graduallylessening




X-Eng(4)

WRITING

Write a letter to your friend and share your enjoyment and participation in the cultural

programme in your school. 10

Points : — date—duration—events —your participation—feelings.

OR

Write a paragraph on the preparation of rice from paddy. Use the following points :
10

Points : Harvesting —threshing — paddy separation from hay— Store- taken to machine—

separating husk from rice— poured— sack sealed— to market.
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